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February 7, 2017
Wpriting Sine and Cosine Functions Review

1) Suppose a Ferris wheel has a radius of 40 feet and operates at a speed of 2
revolutions per minute. The bottom car is 4 feet above the ground. The value of h
is 4 feet whent =0.
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a) Sketch a graph for; a ride on this Ferris wheel (4 minutes). Identify the maximum,
minimum, and amplitude on the graph. max-&4, mn =4 , amp: 4 (g4-u): 3 ()= 40

b) Where would the axis of wave or midline be for a graph of this model?
d= max-amp = 84-40 = 44

mdline: Y=4y
c) What is the period length for this scenario? What would the b-value be in a sine or

cosine function for this scenario?
irev:=305ec S0 period: 30
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d) Write a cosine model for this scenario.
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